


ABBSOFT COMPUTERS


Portfolio Management & Security Analysis
Mark 1 questions
Q-1     ---------- Is putting money at risk by betting on an uncertain outcome with the hope that you might win money.

(a)   Investment                                                   (b)  Gambling                          
(c)   Financing                                                     (d)    Portfolio

ans. B

Q-2     ----------- is a method used to evaluate the worth of a security by studying the Financial data of the issues .

(a)   Security Analysis                                           (b)  Fundamental analysis

(c)   Performance  Analysis                                   (d)  None of Above

Ans. B

Q-3      IPO stands for :
(a)   Internal Public Office                           (b)  Initial Public Office

(c)  Initial Public Offer                               (d)  Internal Police Office

ans. C

Q-4    Primary market is one in which a borrower issues new securities in exchange for cash from an investor. 

(a)   True                                                      (b)  False

ans. A

Q-5    Which of the following are common errors in investment                          management.

(a)Not Having A Clearly Defined Investment Plan.                                    (b)Investor Often overdose Themselves On  Information.

(c)Both A&B.

(d)None A&B.

ans. C

Q-6    Which of the following is the quality of a smart investor required.

(a)Smart Investor Invest Consistency.

(b)Smart Investor Are Important

(c)Smart Investors Are Emotionally Tied To Their Investment Position.

(d)All Of Above.

Ans. A

Q-7    ----------- is the variability in a security’s returns resulting from fluctuations in the aggregate market.
(a)   Market Risk    (b)  Inflation risk

(c)   Credit Risk    (d) Intand rate risk

ans. A

Q-8   Money Market  Transactions can be executed directly or an intanmediary. 

(a)   True                                                      (b)  False

ans. A

Q-9     OTC stands for :
(a)   Offer To The Centre.                          (b)  Over The counter.

(c)  Over TO Corporation.                         (d)  None Of Above. 

Ans. B

 Q-10    ----------- Are the short-term unsecured promissory notes issued by a company to raise short-term cash.  
(a)   CD                                                      (b)  CP

(c)   Treasury bills                                     (d)  All of Above

ans. B

Q-11    ----------- Are financial investments that have no intrinsic value, but drive their value from something else.  
(a)   Bonds                                                      (b)  Commercial Bills

(c)  Desiratives                                              (d)  Shares

ans. C

Q-12     A group of security is known as :
(a)   Investment                          (b)  Portfolio

(c)  Security                               (d)  Gambling 

ans. B

Q-13     How many stocks are listed in Mumbai stock exchange.
(a)   6000                                                  (b)  Less Than 6000

(c)  More Than 6000                               (d)   10000

ans. C

Q-14    ----------- Are organized markets for buying & selling securities which include stock, bonds, options, futures.   
(a)   Desiratives                                                      (b)  Sensex

(c)  Stock Exchange                                              (d)  Market

ans. C

Q-15    The securing pattern of session & recovery is called the  -----------   

(a)   Expansion                                                     (b) Contraction Cycle

(c)  Business Cycle                                              (d)  Economic Cycle

ans. C

Q-16    ----------- Indicator tend to follow (log) economic performance    
(a)   Coincident                                                      (b)  Logging

(c)  Leading                                                           (d)  None Of Above

ans. B

Q-17    ----------- Analysis is  a method that is used to evaluate the worth of a security by analyzing the statistics that are generated by market activity, such as past price of volume.    
(a)   Economic                                                      (b)  Financial

(c)   Technical                                                      (d)  None Of Above

ans. C

Q-18    A----------- pattern is a distinct formation on a stock chart that creates a  trading signal or a sign of future price movements.   
(a)   Price Chart                                                      (b)  Chart

(c)   Technical                                                       (d)  None Of Above

ans. B

Q-19   Under the weak formof EMH, technical analysis is useless. 

(a)   True                                                      (b)  False

ans. A

Q-20    -----------  is the annual rate of return that a fund holder will earn under the assumptions that the bond is held to maturity  & the invest payments are invested.   
(a)   YTM                                                     (b)  NPV

(c)   ARR                                                      (d)CY

ans. A

Q-21   Reference shares are also called ----------- securities on they share the characteristics of bonds and common share.   
(a)   Hybrid
                                                   (b)  Prior

(c)   Primary                                                    (d) Secondary

ans. A

Q-22    Po=D/R is the formula for the calculation of present value of money  in case of :

(a) Zero growth of dividend.

(b)Constant growth of dividend

(c)Valuable growth of dividend

(d)None Of Above.

Ans. A

Q-23   which of the following theory analyzes how wealth can be optimally invested in portfolio’s which are made up assets whose expected returns and risks are different .  
(a)   G.D. Gordon’s approach
                      (b)Modigliani miller approach

(c)   Markowitz Model                                     (d)Traditional Theory.  

Ans. C

Q-24   which model relates return to a single factor.  

 (a)   Makowitz
                      (b)Single Index

(c)   M.M. Approach                    (d)Traditional.  

Ans. B

Q-25    CAPM stands for :

(a) Capital assets products method.

(b) capital assets pricing model.

(c)  capitalization assets of product market. 

(d)None Of Above.

Ans. B

Q-26   CAPM is a single period model is one of the advantage of CAPM.

(a)   True                                                      (b)  False

ans. B

Q-27    -----------  Risk can be measured by be using data.   

(a)  Specific                                                     (b)  Technical

(c)   Systematic                                               (d)  Financial

ans. C

Q-28    -----------  Bonds give the bondholders an option to exchange each bond for a specified no. of shares of common stock of the team.    

(a)  Preference                                                     (b)  Irredeemable

(c)  redeemable                                                   (d)   Convertible

ans. D

Q-29    -----------  Risk is the possibility that borrower repay debt ahead of schedule.    

(a)  LIquidity                                                     (b)  Inflation

(c)  Pre-Payment                                               (d)  Investment  
ans. C

Q-30    The regulatory  agency which overseas the functioning of stock markets, which is located in Mumbai is :  

(a)  NSE                                                     (b)  BSE

(c)  SEBI                                                    (d)  OTCEI

ans. C

  Q-31    Which of the following is not a common risk factor:  

(a)  Market Risk                                                     (b)  Promotional Risk

(c)  Interest Rate Risk                                            (d)  Inflation Risk

ans. B

  Q-32  How  Many stock are listed in OTCEI.

   (a)  40                                                       (b)  50

    (c)  90                                                     (d)  45

ans. B

Q-33 Which of the following  chart gives more details than a regular      line chart . 

     (a)  Line                                                     (b)  Histogram

    (c)  Pie                                                       (d)  Bar

ans. D

Q-34   -----------  gives the no. of shares for which each bond may be exchange.  

(a)  Market Conversion Value                           (b)  Conversion Ratio

(c)  P/V Ratio                                                    (d)   B.E.P. Ratio

ans. B

Q-35 The January effect studies documented evidence of higher mean return in January as compared to other month.

     (a)  True                                                    (b)  False

ans. A

Q-36 The issues promises  to repay to the -------- principal at maturity  date plus coupan interest over some specified period of are  

     (a)  Investor                                                    (b)  Tender

     (c) Both a & b                                                (d)  Borrower

ans. C

Q-37   -----------  is the excess of the bond over its conversion value .   

(a)  Market Conversion                           (b)  Conversion Premium 

(c)  Conversion Discount                        (d)   conversion Ratio

ans. B

Q-38  A zero coupan bond’s oration is different from its maturity . 

     (a)  True                                                    (b)  False

ans. B

Q-39   “Not putting all your eggs in one basked” means.    

     (a)  Investment                                                    (b) Financing

     (c) Diversification                                              (d) None of the above

ans. C

Q-40    -----------  Represents the trade off between risk & expected return faced by an investor when forming this portfolio.    

(a)  Efficient Set                         (b) Attainable Set 

(c)  Efficient Frontier                  (d)   Risk Diversification

ans. C

MARk 2 questions
Q-41  Which of the following are assumptions of CAPM :    

(1)  Assets are infinitely divisible

(2)  Taxes & Transactions costs are isselevant 

(3)   Information is freely & instantly available to all investors.

(4)   All investors are assumed to follow the mean variance approach. 

(a) 1,2,3 .                                                              (b) 2,3,4.

(c) 1,2,3,4 .                                                            (d) Only 1. 

Ans. C

Q-42    ----------- Management is the process of managing investment portfolios by attempting to time the market while ------ management is the process of managing investment portfolios by trying to match the performance of an index.   

       (a)  Active,Passive                               (b) Passive,positive

       (c)  Passive,Active                                (d)   Direct,Indirect

ans. A

Q-43    In portfolio construction ,--------- ,----------& ---------- issues are  addressed 

(a) Selectivity, Variability, Evaluation.

(b) Timing, Selectivity,Diversification.

(c)  Diversification , Information, Investment. 

(d)  Selectivity, Diversification, Evaluation.

Ans. B

Q-44  ----------  Are markets for short term , while -------- market are markets for long & high team securities. 

(a) Primary , Secondary.

(b) Money , Capital.

(c)  Direct , Indirect.

(d)  Organized , Unorganized.

Ans. B

Q-45     

(1) An investor who is saving for his teen-aged daughter’s college education would be less likely to take large risk because :

(2) He has a short time horizon.

(a) Both statement and session.

(b) Only 1 is true.

(c)  Only 2 is true.

(d)  Neither is correct.

Ans. A

Q-46   Financial market can be divided into -------- and --------- market.

(a) Primary , Secondary.

(b) Money , Capital.

(c)  Organized ,OTC.

(d)  None Of Above.

Ans. C

Q-47     --------Market is one in which investor trade directly with each other while --------market is one where dealers post bid rates & offer rates at which public investor can trade.

(a) Buy rates, Sale rates.

(b) Auction , Dealer.

(c)  Primary , Secondary. 

(d)  Money , Capital.

Ans. B

Q-48   Match the following:

Set A       

      (1)   It is a contract that gives the owner the right but not obligation to buy  the underlying aisle by a specified date at a specified price.

(2) It is a contract that gives the owner the right but not obligation to sell the assets at a specified price.

Set B 

      (1) Call option. 

      (2)  Put option.
(a) 1-1, 2-2.                                                            (b) 1-2 , 2-1

(c) 1-1 , 2-1.                                                           (d)  1-2 , 2-2. 

Ans. A

Q-49     The two type of data analysis techniques that are available to assist investors to make better investment decision are :

(a) Fundamental, Technical analysis.

(b) Financial , Fundamental analysis.

(c)  Economic , Financial analysis.
(d)  Economic , Fundamental analysis.

Ans. A

Q-50     A --------------- account deficit occur when a country imports more goods & services than it exports. A-------- account deficit occurs when the investment made in the country by foreign is less than the investment is foreign countries made by local players .  

(a) Current , Capital.

(b) Capital , Current.

(c)  BOP , Deficit.
(d)  BOP, GDP.

Ans. A

Q-51 
Which of the following is correct:

(1) Defensive industries are those that sell goods that people consume irrespective of the state of the economy, such as good 

(2) The profitability of defensive industries is closely tied to a particular economic cycle
a. Both 1 & 2 are correct 

b. Only 1 is correct 

c. Only 2 is correct 

d. Both are wrong 

Ans. B

Q-52 
Which of the following is the short in the MarkoWitz portfolio selection. 

a. The problem of computational complexity 

b. It is assumed that all the risk & return characteristics return with the return of other securities 

c. Both a & b

d. Neither a or b

Ans. C

53. The value of shares may be calculates by: 

a. DD model, zero growth, constant growth model 

b. Porter model, bow model, MM model 

c. Both a & b

d. Dividend model, investment model 

Ans . A

54. The risks that a bondholder faces when investing in bonds are:

a. Interest rate, default rate, liquidity risk 

b. Current yield, YTM risk

c. Both a & b are correct 

d. Neither is correct 

Ans. A

55. Portfolio management strategy can be dividend into ________ & ______. 

a. Positive, negative 

b. Direct, incorrect 

c. Active, passive 

d. Single, double 

Ans. C

56. Which of the following are the 2 type of indicator of price – 

a. Leading & lagging 

b. Cup & handle 

c. Technical & fundamental 

d. Head & shoulder 

Ans. A

57. 

1. EMH presumes that all investors have to informed, skilled & able to constantly analyze the flow of new information 

2. The majority of common investors are not framed financial experts 

a. Both are correct 

b. Only 1 is correct 

c. Only 2 is correct 

d. Neither is correct 

Ans. A

58. 

1. The journey effect studies documented evidence of higher mean return in January as compared to other month 

2. The weekend effect study the holiday of the month effect that been well documented over tree 

a. Both are correct 

b. Only 1 is correct 

c. Only 2 is correct 

d. Neither is correct 

Ans. B

59. Although it is a cornerstone of modern financial theory, the EMH is highly _______ & often _______. 

a. Complicated, easy 

b. Disputed, controversial 

c. Easy, complicated 

d. Conpoversial, disputed 

Ans. D

60. 

1. Many people belive that the price of every stock has an optimum trading range. 

2. Neglected firms seem to offer superior returns with surprisly regulated 

a. Both are incorrect 

b. Only 1 is correct 

c. Only 2 is correct 

d. Both are correct 

Ans. D

61. Arrange the following steps involved in the investment process in a sequential order. 

1. Performing security analysis 

2. Setting investment policy 

3. Portfolio construction 

4. Portfolio performance evaluation 

5. Portfolio revision 

a. 1, 2, 3, 4, 5

b. 1, 2, 4, 5, 3

c. 2, 1, 3, 5, 4

d. 2, 1, 3, 5, 4

ans. C

62. Match the following – 

Set A

1. Inflation risk 

2. Interest rate risk 

3. Market risk

Set B

1. The chance that the purchasing power of the invested rupees will decline 

2. It is the variability in a security’s resulting from fluctuations in the aggregate market  

3. The variability in a security’s return resulting from change in the level of interest rate    

a. 1-1, 2-2, 3-3

b. 1-2, 2-3, 3-1
c. 1-2, 2-1, 3-3
d. 1-1, 2-3, 3-2
ans. D

63. Which of the following abbreviation are correct:

1. NSE stands for national stock exchange 

2. BSE stands for Bombay stock exchange 

3. OTCEI stands for over the counter exchange of India 

4. CD stands for commercial of deposits 

a. Only 1, 2, 4

b. All are correct 

c. 3 is correct 

d. neither is correct

ans. B

64. 

Set-A

a. _________ indicator tend to precede the upward & downward movement of the business cycle & can be used to predict the near term activity of the economy 

b. ________ indicator usually mirror the movements of the business cycle.

c. ________ indicator are economic that change after the economy has already begun to follow a particular pattern. 

Set-II

a. a-1, b-2, c-3

b. a-3, b-2, c-1

c. a-2, b-1, c-3

d. a-2, b-3, c-1

ans. B

65. Match the following – 

Set-A

1. During this stage rapid growth in demand occurs 

2. During this stage the survivors from the pioneering  stage are identifiable 

3. During this stage, growth begin to be modulate 

Set-B

1. Maturity 

2. Expansion 

3. Pioneering

a. 1-1, 2-2, 3-3

b. 1-2, 2-3, 3-1

c. 1-1, 2-3, 3-1

d. 1-3, 2-2, 3-1

ans. D

66. State whether the statements are true or false:

1. The moving average is a lagging indicator which is easy to construct & most widely used 

2. Head & Shoulder is a reversal chart pattern that to formed signals, that the security is likely to formed against the previous trends 

3. The market portfolio consists of all assets available to investors & each asset is held in proportion to its market values 

4. For an individual risky asset, the relevant risk measure is the co-variance of its return on the market portfolio 

a. 1, 2, 3

b. 1, 3, 4

c. 2, 3, 4

d. 2, 3, 4

ans. C

67. Match the following – 

Set-A

1. The _______ of any asset is estimated by regression analysis 

2. The _______ can be estimated by the difference between the return on market index and the return on treasury bills   

3. The _______ can be estimated by the current yield on risk-free assets such as TB

Set-B

1. Risk free rate 

2. Market price of risk 

3. Beta 

a. 1-1, 2-2, 3-3

b. 1-2, 2-1, 3-3

c. 1-3, 2-1, 3-2

d. 1-3, 2-1, 3-2

ans. D

68. IN a single factor model, if the factor sensitivities of two securities are 3 and 5 respectively, and if the various of the factor is 0.0005. What is the co-variance between the two securities?

a. 0.005

b. 0.0075

c. 0.007

d. 0.0089

ans. B

69. Which of the following abbreviation is not correct. 

1. ADR stands for American depository receipt 

2. SEC stands for stock exchange of commission 

3. APT stands for average pricing theory 

4. GNP stands gross net product 

a. All are correct 

b. Only are incorrect 

c. Only 1 & 2

d. Only 3 & 4

Ans. D

70. Which of the following statement is true:

1. ADR are investment vehicles designed to allow US investors to invent in companies that are not based in the OS

2. APT model is similar with CAPM in that it is for less restrictive in its assumption 

3. SML allows us to represent the risk and return characteristics of every asset in the market portfolio 

4. callable initial time during which the bunch are not callable 

a. 1, 2, 3, 4

b. 1, 3, 4

c. 1, 2, 3

d. 2, 3, 4

ans. B

71. What is the price of a 10% coupon, 20 year maturity bond with par value of Rs.1000 paying semi-annual coupon payments if the interest rate 8% annually?

a. Rs.1000

b. Rs.1197

c. Rs.1999

d. Rs.2097

Ans. B

72. Match the following:

Set-A 

1. Money market 

2. Capital market 
3. Secondary market 
4. Primary market 
Set-B

1. When the original investors sell their security 

2. It is one in which a borrower issues new securities in exchange for cash from an investor 
3. It provide investor a place for parking surplus fund for short period of time 
4. These are market in equity & long term debt 
a. 1-1, 2-3, 3-2, 4-4

b. 1-3, 2-4, 3-2, 4-4
c. 1-2, 2-3, 3-4, 4-1
d. 1-1, 2-2, 3-4, 4-3
ans. B

73. State which of statement is not correct. 

1. Financial market can be divided as organized market & OTC

2. Money market are market for short-term high quality debt securities 
3. The fall form of impose in initial public offer 
4. The no. of listed Co. in NSE are 50
a. 1, 2, 3

b. 1, 2, 3, 4
c. Neither 
d. 2, 3, 4 

ans. C

74. Match the following – 

Set-A

1. Nikkei 

2. CAC 40

3. FTSE-100

4. DOLOJONES

Set-B

1. The main index for the Paris stock market 

2. The main stock index of Tokyo stock market 
3. The most widely used in US index 
4. An index of 100 listed companies 
a. 1-2, 2-3, 3-4, 4-1

b. 1-1, 2-2, 3-3, 4-4
c. 1-3, 2-1, 3-4, 4-3
d. 1-1, 2-3, 3-2, 4-4
Ans. B

75. Which of the following statement is correct in respect of risks in debt securities. 

1. Price risk is the risk that bond prices crises that bond will decrease with an increase in interest rate .

2. Reinvestment risk is the uncertainty about future or target date portfolio value that result from the need to reinvest bond coupon 

3. Default risk refers to the possibility of having the issue defaulting on the payment of the bond

a. All are correct 

b. Only 1 & 3 are correct 

c. Only 2 is correct 

d. All are incorrect 

Ans. A
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